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module counter(....);

always@(posedge clock) begin

 if(reset) begin

   overflow <= 1'b0;

   count <= 4'b0;

 end else if(enable) begin

   count <= count + 1;

 end

 if(count == 'd1) begin

   overflow <= 1'b1;

 end

end

endmodule
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❌ count@3: 2 != 0 (expected)
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❌ count@3: 2 != 0 (expected)
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After 1s on my laptop:
Add the following:
count <= 4'b0;
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Paper PDF Code on Github

Please join 
us for our 
full length 

talk!

https://kevinlaeufer.com/pdfs/rtl_repair_kevin_laeufer_asplos2024.pdf
https://github.com/ekiwi/rtl-repair

